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Instructions:
ELEAA:
EHEMA:

> For question numbers 1 to 10, each question had four choices (A), (B),
(C) and (D) out of which ONLY ONE is correct.
F1E10EY , SEENEEE : (A),(B),(C)and (D) , BERE—B&
ERER 6 ZBTHRD.
E1E108F , FEEMNIEM : (A), (B), (C)and (D) , BERE—1
EWER , ZRTED,

> Question number 11 to 20 are of short answer type.
F11E20ER/EETE,
F11E20B N EEZ,

> Each question carries 10 marks.
BEEG10D.
BEE 5105,


mac


1)

A polynomial of degree n equating with 0 has
—nRANZSEAROEK—HRER
— nXRFNZMAE0H K —HERt

(A) only 1 real root
RE—(EER
RE-IER

(B) exactly n real roots
R FnEER
NI FFnANSRAR

(C) at most n real roots
RZnBER
RENMRR

(D) more than n real roots

ZRnEER

ZTFn SRR



2)

If the interior angles of a triangle remain the same, the value of trigonometric

ratios of the angle:
E—E=AENAANKIMETE  H=AkS:
HE—IN=AENAANKIEETET , H=Ak4:

(A) Vary with the length of the sides of the triangle
BB = A2 R
EE=AFALKMKE

(B) do not vary with the length of the sides of the triangle

TEE=agFneRkmuE
TeBE=gFaKmi®E
(C) vary with the change in length of hypotenuse only
Ref=grsizREN RS MmN
Ref=aEMuKENHREmMHE
(D) do not vary with the change in length of hypotenuse only
TERE=aFMEREN B MNE
B = AR K E R S
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3)

A man find that the probability of him winning the first prize in a lottery is 0.06.

If 4000 tickets are sold, how many tickets has he bought?

—ESABRBME-RERETEFSRRENBRZ0.06, HEHL000RFEHE ,
AEMMETSVRRE?

—NEBEARDUBE —RERFIREARIBER0.06, HHL000KFEHED |
FEMEERTZOKR?

(A) 210
(B) 220
(C) 230
(D) 240

4)
The A.M. of a set of 100 numbers is 43. If two numbers of the set, namely

65 and 35 are discarded, find the A.M. of the remaining numbers.

—HE100 BB EM FIRR43. EEHFMEHFE5MISMM E |, FHER
THEFHEMFEH,



—H100 MW ERFHHR43, BEEHPRNRFSMISHM = , FHRERT

B FHEARFIEK,

(A) 42.86
(B) 39
(C) 42
(D) 42.25

5)
The tops of two poles of height 20 m and 14 m are connected by a wire. If the
wire makes an angle of 30° with the horizontal ground, then the length of the

wire is

M R0 B R20K M 14K S WY Rim K — REHOERE, R E R EKF 1 EH
EREBER30 , MEZFRHNRER o

M50 B R20K M 14K S W EAIRIRH —FRERLER, BRINZHKLEKFHE

AR ARER300 , BAZKLHNKER o

(A) 12 m
(B) 10 m
(C)8m
(D) 6 m



6)
Find the value of k for which the system of equations x+3y=6,3x+ky+18=0 has

no solution.

HH KB BUE 1B 5 2 x+3y=6,3x+ky+18=0 R E &,

KB BEFE B HIEHx+3y=6,3x+ky+18=0 ;R &,

(A) -5
(B) 6
(C)-9
(D)9

7)
You buy a lottery ticket for $2. The probability of winning $10 is 0.1, the
probability of winning $50 is 0.05, and the probability of winning $100 is 0.01.

What is the expected net gain or loss from buying a ticket?

RE7T —RZ2HF R, RISS108I8IRZ20.1 , WEI50RIBIERZ0.05 , MRS

~Ilﬂi

10098 R 20.01, FRABE REENHMEFERIHBEARES D ?

RR7T —K2HIK R, MISS108IBIRZ0.1 , MEIS0RIBLIEZ0.05 , MMKES

~Ilﬂi

1009 8E R 20.01, BRIR-KEENHESBRIHIMNARZ D ?



(A) $2

(B) $2.50
(C) $2.75
(D) $3

8)
You have 6 different books to place on a shelf. In how many different ways

can you arrange these books if two specific books must be next to each other.

REEILATRNERNEELR L, ERMAEENELENER  FREZIVEH
HHE?

REZLATRNPRERE L, EWAIEENBLIESL |, FEEZ D
HHE?

(A) 240
(B) 230

(C) 220

(D) 210

The diameters of two cones are equal. If their slant heights are in the ratio 5:7,

find the ratio of their curved surface areas.



WEEHENEEREEFN, EAMANRSHLESRS7 , FRECMMER
B LB,

ATEHEANERREEFN, EAMNHORSHEHRST7 , FRE IR HERE
R el

(A) 5:7
(B) 5:9

(C) 5:3
(D) 5:11

10)

Find the least value from
e FZEHHNME
KH&/NME

12

(C) |2



11)
Solve the inequality x3—-4x2+4x>0.
AT E A x3-4x2+4x>0,
BT EAX3-4x2+4x>0,

There are 100 cards in a bag on which numbers from 1 to 100 are written.
A card is taken out from the bag at random. Find the probability that the

number on the selected card is divisible by 9 and is a perfect square.

—ERFE1005k+ , ELT1E100, RRARPREEME—RF~ , FHH B
SRFEESAMOERR  MAR —ZT& TV HEMBIE,

—PMRFE100%K+ , EET1E100, MTRPEYME —5KF , FHE B

KREEBOERR K MAR—ZT& T HABHBE,

13)
A polynomial f(x) (degree 1) must be subtracted from 6x*+16x3+15x2-8x+9,

so that it is divisible by 3x2+5x—2. Find f(x).

EEROXx4+16x3+15x2-8x+EE —H— IR T ZERA(X) , FBEM3Ix2+5x-2
gl@o %?&tﬂf(X)o



FEEMOX+16x3+15x2-8x+FE— N — IR T ZIWMAA(X) , FBEMIx2+5x-2

gl@o -‘LEHE;&, Il:l:llf(X)o

14)

You play a game where you toss a fair coin three times. If you get 0 heads,
you win $0. If you get 1 head, you win $2. If you get 2 heads, you win $4. If

you get 3 heads, you win $8. What is the expected value of your winnings?

fRIE — (Bl B I8 — B ERV SRR , RURHFEEL , IRERES
0, BRURHE—EL , (REMES2, BRURREMEL , RERE. RY
RERE=fEL , (REREIS , FRAFRENHEERSZD?

RE—NERFIE-—DPLENEHRBIX , BRAORHEFI L, (RERES

0, BRURHE—ITL , IRREWES2, BRUREMEMNL , REHE. RY

RRE=N0 , IRERBI8 , BRFRREBNWHEERZ S ?



15)
A club has 10 members, one of them is Alice. In how many ways can a

committee of 4 members be formed such that Alice is there?

—EEF10EE8 , AT —RRZEBK , FRAAZLEREZAER —TA
Z8g  HPEZEBUREZEEH?

—M2B10NEA AP —BREWL , FRASOMFEAEA—EA

ZR&, HPEWLEZRA 2P ?

=
SIn

9o

16)

If cos® + secB=2, find the value of cos30+sec?0.
#cosO + secB=2 , FE# Hicos3b+sec3B,

#cosb + secB=2 , iFE# Hcos30+sec30,

17)

In a swimming pool with length 90 m and width 40 m, 150 men dived in. If
the average displacement of water by a man is 8 cubic meters, what will be

the rise in the water level?



E—90KRMAOK BRI , 1508 B LBHEIKBE, BRE—BFTEHK
MABRSUITK , FBRAKVEL EAZD?

F—90KKFMA0KITH KM , 1508 5L BHKBE, BE—BBELSH

KO BRBIM T K , BRIKLEHK EFAZD?

18)

A 24 m tall tree was cut to a height from the ground. The top of the tree

touching the ground makes an angle 30° with the ground. At what height from

the ground was the tree cut?

—24KREBREMEE EARETF . 281 AR AV R R ERK P B E FE B — 30°A
AEEREIHENEERSD ?

—24K KB TE BT, AR A BT BV SR w5 K P EFE L3008

FRMEHTNEERSD ?



19)
The mean of the marks in Mathematics of 100 students in class Xll was 72.
The mean of marks for boys was 75, while their number was 70. What is the

mean of marks of girls in the class?

100 BEE—SXINNEEZ2ARNFEODR720, HFMEELE |, #70
B, N9 R75, BlTENTEEPRZD?
100 FEE XN BENRNWFEG D R720, HFFMEERELE |, #70

&, WFHFR75, BRILENFIFTRZD?

20)
When A cubic polynomial f(x) = 0, the sum of the three roots is -3, the sum
of the product of roots taken two at a time is 8, the product of the three roots

is 4. Find f(x).

E—=ZXRZEAf(x) =0, EFARZMNZ -3, MEMERMNEEERENR
8, IRZHE R4, FHH f(x)o

H—=RZWMAf(x) =0, EFBERZHMZE -3, BIMANMRIERBEREMNZ

8, IRz R4, B f(x)o

END OF PAPER



